CONCEPTUAL TooOLS By: Neil E. Cotter

COMPLEX ANALYSIS

BASIC MATH
Example 1

EXx:

Give numerical answers to each of the following questions:

a)

b)

c)
d)

€)

Soln:a) 120 =322 -1l —j60

Rationalize 120— 22

—. Express your answer in rectangular form.
-11+ ;60

Find the polar form of j(1+ j)*ej30°. (Note the asterisk that means
"conjugate".)

Find the following phasor: P[-7cos(49t + 135°)].
Find the magnitude of 24+ J ! ._1 5 |-
3—j4 )| /10
ej45°
,J225°

Find the imaginary part of

2(60-  11)(=1) (\ +) 60)
- +3j60  —l=-)60 N* 4+ ¢0°

i

= -2 [o(11) + 11(60) +}3600 -} 121)
61*

= - 1320 -6958
Ak

= = 1320 - )6958
3721 3721

&£ = 0.355 *‘3 1,870
-300 .300
b) j(l-tj)*e,‘) = 301-)) e

190 ~j45° 30°
= QA He— ) E—J

_ A\,-—2-.6375"
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BASIC MATH
Example 1 (cont.)

@) Pl-7eos (4% + 135°)] = -7 £ 125°

i

74 135° £ 1p90°

7 L 315°% o 74-45°

d) |zu+y7

3-)4

. 1450 (45°— — 225°
&) IM[C:) :): Im T_QJ )]

6_32250
- Tm [e:)'l'?ot!]
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